
Copyright ©  All Rights Reserved.   P-MU-L-AXM   Published: 2021.04.20

2 3

1 2 3

4 5

1

15

15

For Single Magnets – Standard 

AXM Series L Brackets

1. Secure the L bracket to the wall using 
    5 x 32 Phillips flat head screws (x4).

3. Attach the magnet to the mounting
    plate. Place anti-tamper nuts (x2) 
    on the L bracket and fasten using
    M6 x 40 machine screws (x2). 

5x32 Phillips flat 
head screws

Washer

Unit: mm

Installation Instructions

4. Slide the side cover plates on both sides of the L
    bracket and secure with M3x5 machine screws (x2)

5. Installation complete

Anti-tamper nuts 

M6x40 Machine screws

M5x12 Machine screws

2. Fasten the mounting plate to the L 
    bracket using M5 x 12 (x2) machine 
    screws and the washers. The 
    adjustable range is 15 mm.

For Single Magnets - Bracket with Cover

M5x12 Machine screws

Washer

5x32 Phillips flat 
head screws

M6x40 Machine screws

1. Secure the L bracket to the wall using 
    5 x 32 Phillips flat head screws (x4).

3. Attach the magnet to the mounting
    plate. Place anti-tamper nuts (x2) 
    on the L bracket and fasten using
    M6 x 40 machine screws (x2). 

2. Fasten the mounting plate to the L 
    bracket using M5 x 12 (x2) machine 
    screws and the washers. The 
    adjustable range is 15 mm.

M3x5 Machine screws

Anti-tamper nuts 



4 5

For Double Magnets – Bracket with Cover

15

2 31

15

2 31

AXM Series L Brackets
Installation Instructions

Unit: mmFor Double Magnets- Standard

Anti-tamper nuts 

M6x40 Machine screws

Washer

M5x12 Machine screws

5x32 Phillips flat 
head screws

1. Secure the L bracket to the wall using 
    5 x 32 Phillips flat head screws (x8).

2. Fasten the mounting plate to the L 
    bracket using M5 x 12 (x4) machine 
    screws and the washers. The 
    adjustable range is 15 mm.

3. Attach the magnet to the mounting
    plate. Place anti-tamper nuts (x4) 
    on the L bracket and fasten using
    M6 x 40 machine screws (x4). 

Anti-tamper nuts 

M6x40 Machine screws

Washer

M5x12 Machine screws

5x32 Phillips flat 
head screws

1. Secure the L bracket to the wall using 
    5 x 32 Phillips flat head screws (x8).

2. Fasten the mounting plate to the L 
    bracket using M5 x 12 (x4) machine 
    screws and the washers. The 
    adjustable range is 15 mm.

3. Attach the magnet to the mounting
    plate. Place anti-tamper nuts (x4) 
    on the L bracket and fasten using
    M6 x 40 machine screws (x4). 

4. Slide the side cover plates on both sides of the L
    bracket and secure with M3x5 machine screws (x2)

5. Installation complete

M3x5 Machine screws

Copyright ©  All Rights Reserved.   P-MU-L-AXM   Published: 2021.04.20


